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1) Fil the circle ®XEYE®, which one is correct with blue or black ball point, in this sheet as well as in separate OMR Sheetilke @~
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1 The function f{x)= Y decreases as ¥ increwcs if -
® b ® l<h2 © 0<b<t, @ 0>b>I

The direction cosines of the Hne perpendiculer (0 v-5y+ 30 are Ll
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. The homogenenus equation, w?® » 2 s by = 1 . vrepresent lines, which arve real and distinet, if
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- The equation of the cirele passes thiough @, ¢;, whose intercepis on axes are 3 and 4 is
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¥ty - Q0is a parsbola which opens _____m__k_ﬁ__“_*___.___m_ _
O Upward . ® Downward © To the right O] To the left

0. Equation of fangent 1o the cirele 2 42 =25 al point (3, 4) is
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SECTION 8" . Marks: 40 -
11, Atiempt any TEN Parts oul of fhe follow iug, Each Part carvies u|u‘1l maiks.
b Hvaluate the definite integral i ---—--'--— J.f
. 1 ¥
il Find e equation al straighl line puxsin-g through the intersection of- ( 4 4 ——0 and
Ivtdy-3 =0 and is perpendicular 1o the line Gy - Ty 18y
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iv. . IJiI:'l‘crcnii:uc y-in

v.  Findthe eritical vadue of the function f(\} L L IR MR .
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Vi W0V 20 - fesk wwd e 2734 are two ey Lenstivsis, then fkd the value of ;H(v +148).

vil.  Bvaluile [‘1_;!__\-__3_ .
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vili. Find the angle belween the lines rcprcscnh'd Ly xP+xy+ 1 =0,
ix.  Find the u|u.1lmn of tangents w the ¢irele \ 4 =25 which an, pavallel to the steaight line3x +dp+3 =0,

Ao Find ihe u|u.umn of paraboly with line of SyIutelry is vutu,.d Piiases through (-3, 4).and w.m,h atx(s, 1)
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X, "ﬁnlwu the lmmuu,nuux, differential u;ualmn given by GO 2'}
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xit. Compute Jour ilerates of the biscction method for_f'(.r) = % —10x°+23, using intervals [3.2,'4].

x.iii. Jind L.hl.‘ Partial dcrrix';'niw‘s f‘_[.\-\_i-’) aml_.‘;(;r.y),ivl.l::rc‘}'(x) =f‘sin"(.ry)'.
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L @ lise pm'mnclric dilterentistion 1o find ‘?3 where v =« Cos 20 und pzb Sin 2
v
(hy \'mlu the copuntion of the ]Ijl}(llmld \»1l‘|1 vertices (2. -2) and (-4, -2) and passes ('hrougl'l (5, 1).
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